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A2 Pe - Sociocultural , Commercialisation &
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Please complete the crossword puzzle below
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1. The media have become the most
influence on sport in the 21st century’
4. A disadvantage of using technology is that it

changes the of sport
6. Sport reflects  hence why it has seen
changes

7. This is one of the largest televised sporting
events.

8. These types of surfaces are a relatively new
innovation

11. limits the use of technology at events

16. Commercialisation can be considered to
have a negative effect on sport as it
18. The use of technoology can be argued to
create less
19. This type of technology can trace the flight
of 2 ball
20, Commercalisation of sport creates.
models
21. When the brand or image from one product
is Used to sell another
22. The media has now completely
sport
23. It can be argued that the needs of TV,

sport
24,4 person, group or organisation that be can
affect or be affected by an organisations actions
28. Commercialisation can be considered 3
positive aspect of sport s it __ sponsorship.
29, Golden is the link between sports
events, sponsorship by business and media
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2. The use of technology doesn't take into

‘Consideration the role of sport in society

3. The use of technology is not across

all levels of sport

5. of funds can be disastrous to sports

9. The treating of sport as a commadity ,

involving the buying and selling of assets with

the market as the driving force behind sport

10. The use of technology means there is less.
on officals

12, There is a financial

media and large sporting events

13. Business can invest in sport via

1. A system by which the television viewer can

pay for a private telecast to their home of an

event

15. Breaks in play can be. for

spectators if they are too long

17. The use of the media creates an

21.TMO = Television Official

25, This tends to be viewsd as the best medium

25 it can be transmitted live

26. ‘sports may suffer due to lack of

media coverage.

27. Nowadays, it is more likely that those in

charge of sport have 2 background

between the





image3.png
Edit View Favorites Tools Help

Name:
A2 Pe - Sociocultural , Commerc
Technology
Please complete the crossword puzzle below
T=e [ ]2]=
3 o[ [u]=]e
[<] B a
[ole|i o[ ]¥] [= o [x[v[=]e[:]]=
s s B
R T - i)
s s o| o= = L
t T i n n e 1
Advanoed Optons Bl [= e 2| [ a n [3] s
B ez [z =] [n [ 2 [ ]2 ]=]= ANARE
¥ B < = = = 5] [=
= s = = ez = o7 o= = [¢
) a| e 1 s = =
. e[ [ ]v = B o] [=
B s| [= HEA0 B
= <] [= i =
- 2[e[= ][] [a[=[[:]]¢] [= <] [=
L - i [» s < [=
el [e[ 2o [ [ ]2 ]= e S [e =[] B
B o
T [a]x|e|n]o]2[a]e]=] [=
1
1 - T
= 1| [FER[=
El=[:][= 1]e|
v s

© TheTeachersComer.net Crossuord Maker -





